Halving amounts
Have a look at the questions below. Can you find half of each of the amounts by using sharing?
Remember when finding ½ we are sharing between 2 groups. 
I have done the first one for you. 

½ of 6 = 3		½ of 10 = 		½ of 18 = 	       ½ of 24 = 	                 ½ of 12 =
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1a.1s Alfie comect?

I'had 12 bouncy balls. | lost halt
of them. Now I have only 5 left.

Explain why.
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3b. There are 12 apples on a free.

Half of them fell on the grass.

How many are left on the tree?

XXX XX
(XX XXX





image3.png
6b. Half of the animals at the zoo are
giraffes.

There are 16 animals at the zoo.
How many giraffes are at the zoo?

Use counters or draw a picture fo help
you.
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ba. Patsy bought half of all the socks on
the market stall.
How many socks did she buy?
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Nick had 8 apples yesterday but now
half has been eaten,

How many apples does Nick have now?
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Jane made 10 cupcakes and Lisa
took half to school.

How many did Lisa take to school?
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